a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

=
o
w

£ £
= =2
3
< 10 ]
S g
10%E o o
F- >
- =}
I [0
r =2
I (]
............... : E 107
10°E:: <]
%
°
e}
o k]
e S 1osE g
)
8 I 0.95F - -+~ R : AR
10 15 20 S i5 105 0 10 1520 T T i T T
Vertex z (cm) Vertex z (cm) Vertex z (cm)
e
EHR ﬁékﬁ%%a ALHFFERS 168
£ £
E? 3
: k=~ (%]
102 > 8
: 5 £
>
o
- 3]
iR 2
H ]
T =
1 2
°
e}
Q ke I S
5 B sfeededofi o do b
SRR SERe 411 e i I ST L SO SO L 3 o &ﬁ* ﬂl%’ """""""
0510 -5 0B 101520 0 -15 -10 -5 0 5 10 15 20 T e T e 5150
Vertex z (cm) Vertex z (cm) Vertex z (cm)
3 £
ES 3
N 8
S g
5 10° 3
>
(=}
Q
=2
Q
£
S
10? ~
=
(o}
o i o
T E Il
a4 l: @
o0.9f
085 —ir—io—= c') é 1'0 15 20 08551510 5 0 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


